[ Throw Coins to find the Pi)

2% Throw coins on the grid line and observe how the approximate value of pi can be obtained
from the ratio of coins that overlap the grid points.

pi = (Number of coins that overlap the grid points) <+ (Total number of coins thrown) X 4
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= " Humber of soins that overlap the grid peint=55
Mumber of coins that averlap the grid point=27 Tota| mber of:coirss Heowai<70
Total number of coine thrown=34 M The coin that averlaps the grid point is
represented by a red clrole.
i i i M Lets obs. hat the piis four
M The coin that overlaps the grid point is the vais otained by diing (ihe nimber
represented by a red circle. of ceins that overlap the grid points)
by (the totat number of coins thrown)
M Let's observe that the pi is four times Toueh the sereen lo activate
the value obtained by dividing (the number Tauch the sereen again to stop the autn
of coins that 0Ver|ap the grld points) I you touch it furtherit will be initislized

When e screen goes dark louch The titke bar |

by (the total number of coins thrown)
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Touch the screen to activate.

Touch the screen again to stop the auto.

If you touch it further,it will be initialized.

When the screen goes dark,touch the title bar !
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Galaxy S9 Android Studio Version 3.5.1

[Outline]
Throw coins to find an approximation of pi.
Draw vertical and horizontal parallel lines at equal intervals,and throw coins randomly from
above.
However,the distance between the vertical and horizontal parallel lines should be equal to the
diameter of the coin.
The approximate value of pi can be obtained from the ratio of the number of coins thrown to
the number of coins that overlap the grid points. (The intersection of vertical and horizontal lines
is called a grid point)

Let's explain the reason mathematically.



